20135EE 1E8)—78
PASS DEFENDED
(RIRIESL)
IBEL (Fovy| KRER | BS EF4A F4E | POS I
1| B Eﬁ,njc 23 [0 KZEpR 2 DB 6
2| B BHA 3 |=F HJ 4 DB 5
3| B Eﬂ*jc 7 |Bx it 3 DB 4
3| B BEX | 21 [[&F &K 2 DB 4
3| B ELEE 3 [FiE sl 2 DB 4
3| A BiH 4 A BEZHR 3 DB 4
3] B BEKX | 22 [B &=t 2 DB 4
8| A AR 2 &% Wl 3 DB 3
8] A EBAK | 68 |BiR = 2 LB 3
8| A STEK 5 |[BZF 7 4 DB 3
8] A THK | 42 [Hr—)— & 4 DB 3
8] A E PN 3 |iER #E 4 DB 3
8| A #EI | 21 [k BEF 2 DB 3
8| A #HE]I 24 | KX EX 3 DB 3
8| B %F’Ex 4 |RHE W 4 LB 3
8] B BEX | 26 | F BEBXER 3 DB 3
8| B BHEX 6 |[F tE8k 2 DB 3
8] B Bk | 88 [ME = 2 WR/DH 3
8| B BEX | 14 [ KE & 4 DB 3
8| B BMEX | 25 |T#E #4B4) 4 DB 3
8| B HAX 13 |BEX £t 2 LB 3
22| A EBRAK | 34 Bl BE 2 DB 2
22| A BfEA | 31 [ERE #XER 2 DB 2
2] A H&AX 7 [#@R #3} 2 DB 2
22| A BiAK | 20 [E& EIE 4 DB 2
22| A aHk | 10 [HE E— 4 DB 2
2] A aHK | 45 [EEL BX 4 LB 2
2] A HREX 11 [EA RA 4 DB 2
22| A #HE 2 |BX 5= 2 DB 2
2| A #ME 11 |k Fth 2 DB 2
22| A FEEI 19 |BJIl = 4 DB 2
2] B BAK 1 |IUHE CEshA 4 DB 2
22| B HAX 92 [WE {EER 4 DL 2
22| B BAX [ 52 [fE4XK A 3 LB p)
22| B EfEX | 38 [#1U B 1 DB 2
22| B BEKXK | 24 |BEX BB 1 DB 2
22| B H2ELX | 27 [RKiE Fith 1 DB 2
22| B Bk | 11 [EA FE 1 DB 2
22 B E L4 5 |HEd {h# 4 LB 2
22| B ELfE | 14 |Fx 8& 2 DB 2
22| B BEX | 23 [nE #&A 3 DB 2
2] A BiEH 5 2952 HEV 2 |LB/P 2
22| B HAX 3 |HE &£ 2 DB 2




22] B HAXX 17 |[H0 BEEZ2r 3 DB 2
22| B BAX | 26 [$H B2 2 DB 2
46| A EBUK 16 |BK BX 1 DB 1
46 A EHRA | 24 [f8F 8Kk 3 DB 1
46| A SRR | 31 ML HEKER 2 DB 1
46| A EBAK | 42 |2 it 1 LB 1
6] A EBK | 57 |Hf =& 4 LB 1
46| A EBK | 80 |FH ii 1 WR 1
46| A EBCK | 90 [88%F KX#0 4 DL 1
46| A EHRA | 99 [tk & 3 DL 1
6] A HiEH 9 |XTF #B— 4 DB 1
46| A BiEHE 36 |H BEfT 3 DB 1
46| A Bl 38 MNP EBE 1 DB 1
46| A BiiH 91 |BJIl #1& 4 DL 1
6] A H&AX 5 [JIFE HEX 2 LB 1
46| A H&EX 17 [7k5 #Hith 3 DB 1
46| A BAK | 23 [lLO ,%.%E 4 DB 1
46 A H&EX 44 [(hH FH 3 LB 1
46| A HAX | 52 [X% Eth 3 LB 1
46 A SHEK 8 |IF&E # 4 LB 1
46| A E. PN 23 |HZ BEE 4 | oLB 1
46| A Ak | 28 [HE Kt 3 DB 1
46| A HREX 2 |HE HIF 4 DB 1
46| A HREA | 20 [[EE #IA 4 LB 1
46| A HRA | 44 [Eh BF 3 LB 1
46| A BHmA | 45 |[HEXK #H 4 LB 1
6] A —E 8 |BEY] =& 4 LB 1
46| A —EX | 183 [=F X& 3 DB 1
46| A wm=) | 37 Ik K\ 4 LB 1
46| A wmE)ll | 42 | KA gE—BR 3 LB 1
46| A EEX 19 |Ef K— 3 DB 1
46| A L% 43 [Ox4a7 wvonN 1 LB 1
46| A FEX | 52 [FE kK& 3 LB 1
46| A EEX | 58 [fEAT & 3 LB 1
6] A FEX | 92 [ 8##E 3 DL 1
46| B HAX 2 |FH HX 4 DB 1
46| B HAX 5 |ZH R¥E 4 LB 1
46| B HAX 47 k& fL— 3 LB 1
46| B HAKX | 50 [ EE 1 LB 1
46| B BAX | 59 [FEILU KBk 3 DL 1
46| B BAX | 90 |hE thid 4 DL 1
46| B HAX 93 [iI58 BE 4 DL 1
46| B BEAK 8 |&&X EN 4 LB 1
46| B AKX 9 |Hl BEXER 3 LB 1
46| B BB XK 11 kB —E 3 DL 1
46| B BE’E 30 [KE #% 2 LB 1
46| B BARK | 31 |#ER R 2 DB 1
46| B FiE. PN 2 [HH #&#X 4 DB 1
46| B kX [ 21 [*FA ELEA 3 DB 1
46| B Rk | 57 [/h#k #ER 3 LB 1
46| B hRX [ 93 |EA Ezh 2 DL 1
46| B X | 99 |RE F 3 DL 1
46| B EEX | 56 iT)I| & 3 LB 1
46| B BHEX 4 |[BRIx mﬁﬁ 2 DB 1
46| B HEKX | 34 [AHE BA 1 LB 1
46| B BHEX | 47 |1kiE (G 1 LB 1
46| B gEX | 50 [AFF &3 4 oL 1
46| B EEPN 6 |BHH X 3 DB 1
46| B Bk | 17 |[{RiE 3 DB 1
46| B IR K | 18 |##ME #i 1 DB 1
46| B BIEEA | 27 [XIR 2 |[RB/LB 1
46| B A | 51 [ B 1 LB 1
46| B BEkA | 52 [IFF & 3 [pL/oU 1
46| B BEREK | 77 | K& B 2 DL 1
46| B E 14 2 &k IEE 3 DB 1




46| B E 4 9 [ 3% 4 DL 1
46| B E+% | 23 [{&@E @A 3 DB 1
46| B E+i | 43 [Xk BEE 3 LB 1
46| B BEEX 11 PHE% fE— 4 LB 1
46| B wEX | 13 [[BFE R4t 1 DL 1
46| B BEX [ 19 [/h& tHAER 3 LB 1
46| B BEIA | 22 [&F Xib 2 DB 1
46| B BEIKRK | 91 |[HH EH 3 DL 1
46 | A HigH 17 | 3T 4 DB/K/H 1
46| A BiiH 39 |IEH &2 1 LB 1
46| A BiiH 40 |HAI) # 4 DL 1
46| B BAKX 4 | TFKAR 8K 2 DB 1
46| B HAX 23 |BEXR BB 3 DB 1
46| B BAX | 96 [FiE = 2 DL 1
46| B BEEX 8 |3 &—BH 4 LB 1
46| B BEEX 13 [=3F8 fE 3 DB 1
46| B EEX | 95 |k BY 1 DL 1




